VARIES
DISCHARGE
TUBE EXISTING WALL
I —

SEE SPLIT

RING CLAMP.

THIS DRAW\NG//QQ‘:H\\
SEE WEDGE
ANCHOR DETAIL
THIS DRAWING

SIDE VIEW
STRAINER

PLATE FABRICATION

DETAIL. THIS DRAW\NGT‘ Q ﬁ @

BORE 12mm & HOLES AS
SHOWN AT CORNERS FOR
WEDGE ANCHORS BOLTS

FRONT VIEW

ASSEMBLY DETAIL

°
405 , 105

25ﬂ

145

AIR—WATER JET

PLATED, WEDGE ANCHOR.

230
~
6]

—

520

130

505

S

185

7

175 250

610

&

PLATE FABRICATION DETAIL

BORE 9.5mm ¢ HOLES @ 9mme x 95mm LONG
AND CLEAN OUT WITH \ / CARBON STEEL, ZINC

T~ 25mm THICK—2)——=

ALUMINUM
PLATE

?

I =

EXISTING
WALL

WEDGE ANCHOR DETAIL

LIST OF MATERIALS

ITEM

DESCRIPTION

12mm@ SINGER ARION STRAINER, MODEL J1521M

2.5mm THICK (2 ——

ALUMINUM
PLATE

EXISTING
WALL

2.5mm X 505mm X 610mm ALUMINUM SHEET PLATE.

12mme P x P, VIEGA PRO—PRESS TEE, MODEL 2918 PART
NO. 77377

12mmg PE x PE, LENGTH TO SUIT, COPPER PIPE TO ASTM B88
STANDARD FOR SEAMLESS COPPER WATER TUBE TYPE "L”.

12mm@ ZINC PLATED, RUBBER LINED, SWING GATE STYLE
SPLIT RING CLAMP

12mmo P x P, \/\EGA PRO—-PRESS BALL VALVE, MODEL 2973
PART NO. 2400

12mme P x MPT VIEGA PRO—-PRESS ADAPTER, MODEL 2911ZL
PART NO. 7921

12mmg P x FTG, VIEGA PRO—-PRESS ELBOW 907, MODEL

2916W SHORT PART NO. 77347

12m P x P, VIEGA PRO-PRESS ELBOW 90°, MODEL 2916
SHORT PART NO. 77317

Imme@ x 95mm LONG CARBON STEEL, ZINC PLATED, WEDGE
ANCHOR c¢/w NUT AND WASHER

M10x1.5mm THREAD, ZINC—PLATED, CLASS 8, WIDE HEX NUT

9mme ZINC PLATED STEEL, M10—1.5mm RIGHT HAND
THREADED ROD, 500mm LENGTH, LENGTH TO SUIT.

A
SPLIT RING CLAMP DELFA\L

ZINC—PLATED STEEL SPLIT LOCK WASHER FOR M10 SCREW
SIZE, STANDARD, 9mm ID, 12mm OD.

OO0V ® QG O® OO

ZINC—PLATED STEEL WASHER FOR M10 SCREW SIZE, 10.5mm
18mm OD.

D,

ciai

Making a difference...together

12mm MECHANICAL
STRAINER ASSEMBLY

revision date: scale:

APRIL 2023

drawn: checked:

G.A./G.P.

K.K.

standard drawing

4.3

no.:



AutoCAD SHX Text
EXISTING WALL

AutoCAD SHX Text
standard drawing no.:

AutoCAD SHX Text
drawn:

AutoCAD SHX Text
revision date:

AutoCAD SHX Text
checked:

AutoCAD SHX Text
scale:

AutoCAD SHX Text
12mm MECHANICAL

AutoCAD SHX Text
STRAINER ASSEMBLY

AutoCAD SHX Text
4.3

AutoCAD SHX Text
APRIL 2023

AutoCAD SHX Text
1:10

AutoCAD SHX Text
G.A./G.P.

AutoCAD SHX Text
K.K.

AutoCAD SHX Text
FRONT VIEW

AutoCAD SHX Text
WEDGE ANCHOR DETAIL

AutoCAD SHX Text
SEE WEDGE ANCHOR DETAIL THIS DRAWING

AutoCAD SHX Text
DISCHARGE TUBE

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
LIST OF MATERIALS

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
QUA.

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
7

AutoCAD SHX Text
4

AutoCAD SHX Text
12mm  SINGER ARION STRAINER, MODEL J1521M

AutoCAD SHX Text
12mm  P x P, VIEGA PRO-PRESS TEE, MODEL 2918 PART NO. 77377

AutoCAD SHX Text
12mm  PE x PE, LENGTH TO SUIT, COPPER PIPE TO ASTM B88 STANDARD FOR SEAMLESS COPPER WATER TUBE TYPE "L".

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
12mm  ZINC PLATED, RUBBER LINED, SWING GATE STYLESPLIT RING CLAMP

AutoCAD SHX Text
3

AutoCAD SHX Text
6

AutoCAD SHX Text
12mm  P x P, VIEGA PRO-PRESS BALL VALVE, MODEL 2973PART NO. 24000 

AutoCAD SHX Text
7

AutoCAD SHX Text
12mm  P x MPT, VIEGA PRO-PRESS ADAPTER, MODEL 2911ZLPART NO. 79210

AutoCAD SHX Text
2.5mm X 505mm X 610mm ALUMINUM SHEET PLATE.

AutoCAD SHX Text
PLATE FABRICATION DETAIL. THIS DRAWING

AutoCAD SHX Text
3

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
4

AutoCAD SHX Text
7

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
STRAINER ASSEMBLY DETAIL

AutoCAD SHX Text
SIDE VIEW

AutoCAD SHX Text
11

AutoCAD SHX Text
10

AutoCAD SHX Text
SPLIT RING CLAMP DETAIL

AutoCAD SHX Text
SEE SPLIT RING CLAMP. THIS DRAWING

AutoCAD SHX Text
PLATE FABRICATION DETAIL

AutoCAD SHX Text
12

AutoCAD SHX Text
11

AutoCAD SHX Text
11

AutoCAD SHX Text
14

AutoCAD SHX Text
13

AutoCAD SHX Text
1

AutoCAD SHX Text
BORE 12mm   HOLES ASSHOWN AT CORNERS FOR WEDGE ANCHORS BOLTS

AutoCAD SHX Text
5

AutoCAD SHX Text
2.5mm THICK ALUMINUM PLATE

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
EXISTING WALL

AutoCAD SHX Text
EXISTING WALL

AutoCAD SHX Text
BORE 9.5mm   HOLESAND CLEAN OUT WITH AIR-WATER JET

AutoCAD SHX Text
9mm  x 95mm LONGCARBON STEEL, ZINC PLATED, WEDGE ANCHOR.

AutoCAD SHX Text
5

AutoCAD SHX Text
4

AutoCAD SHX Text
2

AutoCAD SHX Text
4

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
8

AutoCAD SHX Text
4

AutoCAD SHX Text
10

AutoCAD SHX Text
12

AutoCAD SHX Text
11

AutoCAD SHX Text
4

AutoCAD SHX Text
12

AutoCAD SHX Text
4

AutoCAD SHX Text
13

AutoCAD SHX Text
12mm  P x FTG, VIEGA PRO-PRESS ELBOW 90°, MODEL2916.1 SHORT PART NO. 77347

AutoCAD SHX Text
9mm  x 95mm LONG CARBON STEEL, ZINC PLATED, WEDGE ANCHOR c/w NUT AND WASHER

AutoCAD SHX Text
M10x1.5mm THREAD, ZINC-PLATED, CLASS 8, WIDE HEX NUT

AutoCAD SHX Text
10

AutoCAD SHX Text
9mm  ZINC PLATED STEEL, M10-1.5mm RIGHT HANDTHREADED ROD, 500mm LENGTH, LENGTH TO SUIT.

AutoCAD SHX Text
2

AutoCAD SHX Text
2.5mm THICK ALUMINUM PLATE

AutoCAD SHX Text
2

AutoCAD SHX Text
14

AutoCAD SHX Text
ZINC-PLATED STEEL WASHER FOR M10 SCREW SIZE, 10.5mm ID, 18mm OD.

AutoCAD SHX Text
ZINC-PLATED STEEL SPLIT LOCK WASHER FOR M10 SCREW SIZE, STANDARD, 9mm ID, 12mm OD.

AutoCAD SHX Text
4

AutoCAD SHX Text
9

AutoCAD SHX Text
1

AutoCAD SHX Text
9

AutoCAD SHX Text
12mm  P x P, VIEGA PRO-PRESS ELBOW 90°, MODEL 2916SHORT PART NO. 77317

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
8

AutoCAD SHX Text
4

AutoCAD SHX Text
7

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
6

AutoCAD SHX Text
5


	Sheets and Views
	4.3-4.3


